MHuoronpoduibHas _
HH)KeHepHasl OJIHMIIHA/AA ludp, V4 7
«3Be3na»

e 1.
/1 = 54000000090 “| R- paccriipne om  Dediu 40
= 670" £t s fMapernce.

3
MM: £.4- 107 1t Fw«m = P
e e Py

- m My
i =~ b 7 = M.
(r- g}

fly (o-RF = 4, @7
My re2M,r R+ /‘132(_/1/]# Pt = o
‘Qz(Mﬁ’/(ﬂ)‘zRMSY\ +ﬂfbnz:0

R™(¢- 10 ©) =~ 2R ¢ ror
To =107 ) ~ LN E-10™ 502 762 6"70”(574-70‘?)20
R
Q‘SSév?DU’—Q z
, « £582 - (7% 2 g ¢
Ql : E T <16 =
B A = {552 . 4p%
70 +’/71&8€95.7o’5 =
D: H2 492330%-1p7¢ 33 399 642 1y - 7,6 —
/ -

S IYRI060,%6 10" & 5454y Ma,(«@%)l




MHoronpopuibHast

HHKeHepHasi OJTUMIIHAAA muq)p é—é’/i/////- =05

\Y}

«3Be3ga»
duem 7.
R1: $70, 871 . b W — wne mygmegem, M. peacem 3.
KL_— ib‘i? 708 - 2739 pyv. 7€ ’
2‘5,36‘

R, -

%.‘ 411,58 ~70%u om Deurn

W2 -
- R- 3436 000 -
- % B m M
M= € u.70% 6’? = myg wI,

5= C6x. 1571 £
o

2 5

I g—: 6‘,53 .70‘71_ 6'/‘1_ 7022
(b5 709"

al
R

=1

P

.77'*7-{"(3-703 N 3,6'3 ﬂ
e<




MHoronpoduiabHas _
MHZKeHepHas! OJIMMIIHAA Windp 7 -6/~ 2~ P35
«3Be3na»

SXOO@\H - S?ODOH
" ,
% ( R:%SMS'7OMW r:ﬂéh
\ = h' "\ = 3‘13707.,0
‘ M
Ao ¢
7 - me M.
T, [D? elr‘ - Rgmr/:"w
AL: EL . W YT
L
_,41\ - G[Y\/V)uud a _ 16 /1,(#
Gy "we T
/'l\1 - 2 6 /{/,(/l = 6”\/14 % va
T e, T 2 e
b g) = S M



MHoronpopuibHasi

WHKEeHepHAasl OJIHMITHAIA Indp g'g’/@%//—; —o 2

«3Be3man
e 4
M 5
/‘/ :7 ﬁ/ T a——
5 ¥ z77000% -

S: 5%¢ - 708‘// - St¢poooooon T
72000 . ﬁ‘z)'—OOOC e

=728, 30) war

y

OﬂM? 124, 33 .



